# The r-th Powers of the Rational Bernstein Polynomials 

Ali J. Mohammad* , Iman A. Abdul Samad<br>Department of Mathematics, College of Education for Pure Sciences, University of Basrah, Basrah, Iraq.<br>*Corresponding author E-mail: alijasmoh@gmail.com

## Doi:10.29072/basjs. 202121


#### Abstract

This paper is defined and studied a new $r$-th powers of rational Bernstein polynomials. The convergence theorem, the recurrence relation for the $m$-th order moment, and the Voronovskaya-type asymptotic formula for these polynomials in ordinary approximation are given. Also, a numerical example for these polynomials is applied to approximate the test function $\sin 10 x \in C[0,1]$. The results obtained from this example are shown that these polynomials are given better than the corresponding numerical results for the classical Bernstein polynomials and the square rational Bernstein polynomials. The comparison is done by plot the graphs of the function and its approximations as well as the evaluation of the average absolute errors for these approximations.


## Article inf.

Received: 3/5/2021

Accepted: 10/6/2021 Published: 31/8/2021

## Keywords:

Rational ernstein polynomials, Voronovskayatype asymptotic formula, Ordinary approximation.

## 1. Introduction

For $f \in C[0,1]$, the well-known $m$-th order of Bernstein polynomials of the function $f$ is defined as:
$B_{n}(f ; x)=\sum_{k=0}^{n} b_{n, k}(x) f\left(\frac{k}{n}\right)$,
where $b_{n, k}(x)=\binom{n}{k} x^{k}(1-x)^{n-k}$ and $x \in[0,1]$.
In 2009, Pitul and Sablonniere are defined and studied a new family of univariate rational Bernstein polynomials defined as [6]
$R_{n}(f ; x)=\frac{\sum_{k=0}^{n} f\left(x_{n, k}\right) \cdot \bar{w}_{n, k} b_{n, k}(x)}{\sum_{j=0}^{n-1} w_{n, j} b_{n-1, j}(x)}, f \in C[0,1], n \geq 1$,
the weights of the denominator are assumed to be strictly positive while the weights $\bar{w}_{n, k}$ and the abscissae $x_{n, k}$ of the numerator satisfy the following relations:
$\bar{w}_{n, j}=\frac{j}{n} w_{n, j-1}+\left(1-\frac{j}{n}\right) w_{n, j}$ for $1 \leq j \leq n-1$
$x_{n, k}=\frac{k}{n} \frac{w_{n, k-1}}{\bar{w}_{n, k}}=\frac{k w_{n, k-1}}{k w_{n, k-1}+(n-k) w_{n, k}}$ for $1 \leq k \leq n-1$.
After that, many researchers have been interested in the sequences of linear positive operators of rational polynomials. Please see [8] and [5]. In 2014, Render has discussed some convergence properties and error estimates of rational Bernstein polynomials in the general case [7].In 2017, Gavrea and Ivan have defined the square Bernstein polynomials as [3]:
$B_{n, 2}(f ; x)=\frac{\sum_{k=0}^{n} b_{n, k}^{2}(x) f\left(\frac{k}{n}\right)}{\sum_{k=0}^{n} b_{n, k}^{2}(x)}, n=1,2, \ldots$.
where $b_{n, k}^{2}(x)=\left(b_{n, k}(x)\right)^{2}$.
In 2019, Holhos proved the Voronovskaya-type asymptotic formula for squared Bernstein polynomials. [4]

This paper defines a new rational Bernstein polynomial of $r$-th power as follows:
For $f \in C[0,1]$ and $r \in \mathbb{N}:=\{1,2, \ldots\}$, the $r$-th power $B_{n, r}(f ; x)$ is defined
$B_{n, r}(f ; x)=\frac{\sum_{k=0}^{n} b_{n, k}^{r}(x) f\left(\frac{k}{n}\right)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}, b_{n, k}^{r}(x)=\left(b_{n, k}(x)\right)^{r}$.
Clearly, $B_{n, 1}(f ; x)=B_{n}(f ; x)$

Here, the convergence theorem, the $m$-th order moment, and the Voronovskaya-type asymptotic formula for the polynomials $B_{n, r}(f ; x)$ are given. re, we assume that $M$ is a constant not has the same value in different cases.

## 2. Preliminary Results

Some primary results relative to the $r$-th power of rational Bernstein polynomials are given in this section.

## Lemma 2.1

For $r \in \mathbb{N}$, the function $b_{n, k}^{r}(x)$ has the following:

$$
\begin{align*}
& x(1-x)\left(b_{n, k}^{r}(x)\right)^{\prime}=(r k-r n x) b_{n, k}^{r}(x)  \tag{i}\\
& \sum_{k=0}^{n} b_{n, k}^{r}(x)=(1-x)^{r n} \sum_{k=0}^{n} \frac{\left((-n)_{k}\right)^{r}}{(k!)^{r}} \frac{x^{r k}}{(-1+x)^{r k}} \tag{ii}
\end{align*}
$$

Proof.
The proof of the consequence (i) is going as:
$\left(b_{n, k}^{r}(x)\right)^{\prime}=r b_{n, k}^{r-1}(x)\binom{n}{k}\left(k x^{k-1}(1-x)^{n-k}+x^{k}(n-k)(-1)(1-x)^{n-k-1}\right)$
$=r b_{n, k}^{r-1}(x)\binom{n}{k} x^{k-1}(1-x)^{n-k-1}(k-n x)$.
Hence, $x(1-x)\left(b_{n, k}^{r}(x)\right)^{\prime}=(r k-r n x) b_{n, k}^{r}(x)$.
The proof of the consequence (ii) is doing by the direct evaluation as follows:

$$
\begin{aligned}
& \sum_{k=0}^{n} b_{n, k}^{r}(x)= \sum_{k=0}^{n}\left(\binom{n}{k} x^{k}(1-x)^{n-k}\right)^{r} \\
&=(1-x)^{r n}\left(1+\sum_{k=1}^{n}\left(\frac{n(n-1)(n-2) \ldots(n-k+1)}{k!}\right)^{r} \frac{x^{r k}}{(1-x)^{r k}}\right) \\
&=(1-x)^{r n}\left[1+n^{r} \frac{x^{r}}{(1-x)^{r}}+\frac{n^{r}(n-1)^{r}}{(2!)^{r}} \frac{x^{2 r}}{(1-x)^{2 r}}+\frac{n^{r}(n-1)^{r}(n-2)^{r}}{(3!)^{r}} \frac{x^{3 r}}{(1-x)^{3 r}}+\cdots\right. \\
&\left.+\frac{x^{r n}}{(1-x)^{r n}}\right] \\
&=(1-x)^{r n}\left[1+(-n)^{r} \frac{x^{r}}{(-1+x)^{r}}+\frac{(-n)^{r}(-n+1)^{r}}{(2!)^{r}} \frac{x^{2 r}}{(-1+x)^{2 r}}\right. \\
&\left.\quad+\frac{(-n)^{r}(-n+1)^{r}(-n+2)^{r}}{(3!)^{r}} \frac{x^{3 r}}{(-1+x)^{3 r}}+\cdots+\frac{x^{r n}}{(1-x)^{r n}}\right] .
\end{aligned}
$$

Therefore,

$$
\sum_{k=0}^{n} b_{n, k}^{r}(x)=(1-x)^{r n} \sum_{k=0}^{n} \frac{\left((-n)_{k}\right)^{r}}{(k!)^{r}} \frac{x^{r k}}{(-1+x)^{r k}}
$$

For $m \in \mathbb{N}^{0}$, we define $Q_{n, m}^{r}(x)$ of the polynomials $B_{n, r}(f ; x)$ as follow:

$$
Q_{n, m}^{r}(x)=\frac{\sum_{k=0}^{n} k^{m} b_{n . k}^{r}(x)}{\sum_{k=0}^{n} b_{n . k}^{r}(x)}
$$

## Lemma 2.2

For $m \in \mathbb{N}^{0}$. The function $Q_{n, m}^{r}(x)$ has the following recurrence relation

$$
Q_{n, m+1}^{r}(x)=\frac{x(1-x)}{r}\left(Q_{n, m}^{r}(x)\right)^{\prime}+Q_{n, m}^{r}(x) Q_{n, 1}^{r}(x) .
$$

Where $Q_{n, 0}^{r}(x)=1$ and $Q_{n, 1}^{r}(x) \simeq \frac{((n+1) r-1) x}{r n}+\frac{1-r}{2 r n}$
Proof.
By direct evaluation one has
$Q_{n, 0}^{r}(x)=1, Q_{n, 1}^{r}(x) \simeq \frac{((n+1) r-1) x}{r n}+\frac{1-r}{2 r n}$
Now,

$$
\begin{aligned}
& \left(Q_{n, m}^{r}(x)\right)^{\prime}=\left(\frac{\sum_{k=0}^{n} k^{m} b_{n, k}^{r}(x)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}\right)^{\prime} \\
& =\frac{r \sum_{k=0}^{n} b_{n, k}^{r}(x) \sum_{k=0}^{n} k^{m} b_{n, k}^{r-1}(x)\left(b_{n, k}(x)\right)^{\prime}}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}}-\frac{r \sum_{k=0}^{n} k^{m} b_{n, k}^{r}(x) \sum_{k=0}^{n} b_{n, k}^{r-1}(x)\left(b_{n, k}(x)\right)^{\prime}}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}} \\
& x(1-x)\left(Q_{n, m}^{r}(x)\right)^{\prime} \\
& =\frac{r \sum_{k=0}^{n} k^{m} b_{n, k}^{r-1}(x) x(1-x)\left(b_{n, k}(x)\right)^{\prime}}{\sum_{k=0}^{n} b_{n, k}^{r}(x)} \\
& -\frac{r \sum_{k=0}^{n} k^{m} b_{n, k}^{r}(x) \sum_{k=0}^{n} b_{n, k}^{r-1}(x) x(1-x)\left(b_{n, k}(x)\right)^{\prime}}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}}
\end{aligned}
$$

we have $x(1-x)\left(b_{n, k}(x)\right)^{\prime}=(k-n x) b_{n, k}(x)$
$x(1-x)\left(Q_{n, m}^{r}(x)\right)^{\prime}=\frac{r \sum_{k=0}^{n} k^{m}(k-n x) b_{n, k}^{r}(x)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}-\frac{r \sum_{k=0}^{n} k^{m} b_{n . k}^{r}(x) \sum_{k=0}^{n}(k-n x) b_{n . k}^{r}(x)}{\left(\sum_{k=0}^{n} b_{n . k}^{r}(x)\right)^{2}}$
$=\frac{r \sum_{k=0}^{n} k^{m+1} b_{n, k}^{r}(x)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}-r n x \frac{\sum_{k=0}^{n} k^{m} b_{n, k}^{r}(x)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}$
$-\frac{r \sum_{k=0}^{n} k^{m} b_{n, k}^{r}(x)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}\left[\frac{\sum_{k=0}^{n} k b_{n, k}^{r}(x)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}-\frac{n x \sum_{k=0}^{n} b_{n, k}^{r}(x)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}\right]$
$x(1-x)\left(Q_{n, m}^{r}(x)\right)^{\prime}=r Q_{n, m+1}^{r}(x)-r Q_{n, m}^{r}(x) Q_{n, 1}^{r}(x)$.
Hence,
$Q_{n, m+1}^{r}(x)=\frac{x(1-x)}{r}\left(Q_{n, m}^{r}(x)\right)^{\prime}+Q_{n, m}^{r}(x) Q_{n, 1}^{r}(x)$.

## Lemma 2.3

(i) $\quad B_{n, r}(1 ; x)=1$;
(ii) $\quad B_{n, r}(t ; x)=\frac{((n+1) r-1)}{r n} x+\frac{1-r}{2 r n}+o(1)$;
(iii) $\quad B_{n, r}\left(t^{2} ; x\right)=\frac{\left((n+1)^{2} r^{2}-3(n+1) r+2\right)}{r^{2} n^{2}} x^{2}-\frac{\left((n+1) r^{2}-(2 n+3) r+2\right)}{r^{2} n^{2}} x+\frac{(1-r)^{2}}{4 r^{2} n^{2}}+o(1)$;
(iv) $\quad B_{n, r}\left(t^{m} ; x\right)=\frac{((n+1) r-1)!}{r^{m} n^{m}((n+1) r-m-1)!} x^{m}+\frac{m(m-r)}{2} \frac{((n+1) r-1)!}{r^{m} n^{m}((n+1) r-m)!} x^{m-1}+T L P(x)$.

Proof.
The consequence (i) holds immediately by the direct computations. The consequence (ii) claims by using Maple software, from Lemma 2.2, the consequences (iii) hold, Finally, (iv) using indction on $m$, the general relation gets immediate.

## Lemma 2.4

For, $x \in[0,1]$ and $s \in \mathbb{N}$, there exist the polynomials $q_{i, j, s}(x)$ independent of $n$ and $k$ such that

$$
x^{s}(1-x)^{s}\left(b_{n, k}^{r}(x)\right)^{(s)}=\sum_{\substack{2 i+j \leq s \\ i, j \geq 0}} n^{i}(r k-r n x)^{j} q_{i, j, s}(x) b_{n, k}^{r}(x) .
$$

## Proof.

If $x=0$ or $x=1$, then the relation is true.
For $x \in(0,1)$ the proof is doing by induction on $s$. The relation is true for $s=1$. Suppose that the relation is true for $s$. Then,

$$
\begin{aligned}
& \left(b_{n, k}^{r}(x)\right)^{(s+1)}=\frac{d^{s+1}}{d x^{s+1}}\left\{b_{n, k}^{r}(x)\right\}=\frac{d}{d x}\left\{\left(b_{n, k}^{r}(x)\right)^{(s)}\right\} \\
& =\binom{n}{k}^{r}\left\{\sum_{\substack{2 i+j \leq s \\
i, j \geq 0}} n^{i+1}(r k-r n x)^{j-1}\left(-j r q_{i, j, s}(x)\right) x^{r k-s}(1-x)^{r n-r k-s}\right\}
\end{aligned}
$$

$$
\begin{aligned}
& +\binom{n}{k}^{r}\left\{\sum_{\substack{i+j \leq s \\
i, j \geq 0}} n^{i}(r k-r n x)^{j}\left(q_{i, j, s}^{\prime}(x)\right) x^{r k-s}(1-x)^{r n-r k-s}\right\} \\
& +\binom{n}{k}^{r}\left\{\sum _ { \substack { i + j \leq s \\
i , j \geq 0 } } n ^ { i } ( r k - r n x ) ^ { j } ( q _ { i , j , s } ( x ) ) \left[(r k-s) x^{r k-s-1}(1-x)^{r n-r k-s}\right.\right. \\
& \left.\left.+x^{r k-s}(r n-r k-s)(-1)(1-x)^{r n-r k-s-1}\right]\right\} \\
& =\binom{n}{k}^{r}\left\{\sum_{\substack{2 i+j \leq s \\
i, j \geq 0}} n^{i+1}(r k-r n x)^{j-1}\left(-j r q_{i, j, s}(x)\right) x^{r k-s}(1-x)^{r n-r k-s}\right\} \\
& +\binom{n}{k}^{r}\left\{\sum_{\substack{i+j \leq s \\
i, j \geq 0}} n^{i}(r k-r n x)^{j}\left(q_{i, j, s}^{\prime}(x)\right) x^{r k-s}(1-x)^{r n-r k-s}\right\} \\
& +\binom{n}{k}^{r}\left\{\sum_{\substack{i+j \leq s \\
i, j \geq 0}} n^{i}(r k-r n x)^{j+1}\left(q_{i, j, s}(x)\right) x^{r k-s-1}(1-x)^{r n-r k-s-1}\right\}
\end{aligned}
$$

Hence,

$$
x^{(s+1)}(1-x)^{(s+1)}\left(b_{n, k}^{r}(x)\right)^{(s+1)}=\left\{\sum_{\substack{2 i+j \leq s+1 \\ i, j \geq 0}} n^{i}(r k-r n x)^{j} q_{i, j, s+1}(x) b_{n, k}^{r}(x)\right\}
$$

The relation is true for $s+1$.
For $m \in \mathbb{N}^{0}$, the $m$-th order moment $T_{n, m}^{r}(x)$ for the polynomials $B_{n, r}$ is defined as
$T_{n, m}^{r}(x)=B_{n, r}\left((t-x)^{m} ; x\right)=\frac{\sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\frac{k}{n}-x\right)^{m}}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}$.

## Lemma 2.5

The function $T_{n, m}^{r}(x)$ has the following recurrence relation
$T_{n, m+1}^{r}(x)=\frac{x(1-x)}{r n}\left(\left(T_{n, m}^{r}(x)\right)^{\prime}+m T_{n, m-1}^{r}(x)\right)+T_{n, m}^{r}(x) T_{n, 1}^{r}(x), m \in \mathbb{N}$
where $T_{n, 0}^{r}(x)=1$, and $T_{n, 1}^{r}(x) \simeq \frac{(1-r)(1-2 x)}{2 r n}$.
Proof.

$$
\begin{aligned}
& \text { Clearly, } T_{n, 0}^{r}(x)=1 \text {, and } T_{n, 1}^{r}(x) \simeq \frac{(1-r)(1-2 x)}{2 r n} \text {. Then, } \\
& \left(T_{n, m}^{r}(x)\right)^{\prime} \\
& =\frac{\sum_{k=0}^{n} b_{n, k}^{r}(x) \sum_{k=0}^{n} b_{n, k}^{r}(x)\left((-1) m\left(\frac{k}{n}-x\right)^{m-1}\right)+\sum_{k=0}^{n} b_{n, k}^{r}(x) \sum_{k=0}^{n}\left(b_{n, k}^{r}(x)\right)^{\prime}\left(\frac{k}{n}-x\right)^{m}}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}} \\
& -\frac{\sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\frac{k}{n}-x\right)^{m} \sum_{k=0}^{n}\left(b_{n, k}^{r}(x)\right)^{\prime}}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}} \\
& =-m T_{n, m-1}^{r}(x)+\frac{\sum_{k=0}^{n}\left(b_{n, k}^{r}(x)\right)^{\prime}\left(\frac{k}{n}-x\right)^{m}}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}-\frac{\sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\frac{k}{n}-x\right)^{m} \sum_{k=0}^{n}\left(b_{n, k}^{r}(x)\right)^{\prime}}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}} . \\
& x(1-x)\left(\left(T_{n, m}^{r}(x)\right)^{\prime}+m T_{n, m-1}^{r}(x)\right) \\
& =\frac{\sum_{k=0}^{n} x(1-x)\left(b_{n, k}^{r}(x)\right)^{\prime}\left(\frac{k}{n}-x\right)^{m}}{\sum_{k=0}^{n} b_{n, k}^{r}(x)} \\
& -\frac{\sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\frac{k}{n}-x\right)^{m} \sum_{k=0}^{n} x(1-x)\left(b_{n, k}^{r}(x)\right)^{\prime}}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}} \\
& =\frac{r n \sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\frac{k}{n}-x\right)^{m+1}}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}-\frac{r n \sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\frac{k}{n}-x\right)^{m} \sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\frac{k}{n}-x\right)}{\left(\sum_{k=0}^{n} b_{n, k}^{r}(x)\right)^{2}} \\
& x(1-x)\left(\left(T_{n, m}^{r}(x)\right)^{\prime}+m T_{n, m-1}^{r}(x)\right)=r n T_{n, m+1}^{r}(x)-r n T_{n, m}^{r}(x) T_{n, 1}^{r}(x) \\
& T_{n, m+1}^{r}(x)=\frac{x(1-x)}{r n}\left(\left(T_{n, m}^{r}(x)\right)^{\prime}+m T_{n, m-1}^{r}(x)\right)+T_{n, m}^{r}(x) T_{n, 1}^{r}(x) \text {. }
\end{aligned}
$$

Using the recurrence relation above and the direct evaluations, one has
$T_{n, 2}^{r}(x) \simeq \frac{x(1-x)}{r n}+\frac{(r-1) x(1-x)}{r^{2} n^{2}}+\frac{(1-2 x)^{2}(1-r)^{2}}{4 r^{2} n^{2}}$;

## Lemma 2.6

The order of the above moment is $T_{n, m}^{r}(x)=O\left((r n)^{-\left[\frac{m+1}{2}\right]}\right), \forall x \in[0,1]$, where $\left[\frac{m+1}{2}\right]$ the integer part of $\frac{m+1}{2}$.

## Proof.

From the values of $T_{n, 0}^{r}(x)=1=O\left((r n)^{-\left[\frac{1}{2}\right]}\right)=O(1)$
$T_{n, 1}^{r}(x)=\frac{(1-r)(1-2 x)}{2 r n} \simeq O\left((r n)^{-1}\right)$. The relation above holds.
Suppose that the relation be true for $m$, show it true for $m+1$

$$
\begin{aligned}
& r n T_{n, m+1}^{r}(x)=O\left((r n)^{-\left[\frac{m+1}{2}\right]}\right)+O\left((r n)^{-\left[\frac{m}{2}\right]}\right)+O\left((r n)^{-\left[\frac{m+1}{2}\right]}\right) \\
& r n T_{n, m+1}^{r}(x)=\left\{\begin{array}{l}
O\left((r n)^{-\left[\frac{m+1}{2}\right]}\right) \text { if } m \text { is odd } \\
O\left((r n)^{-\left[\frac{m}{2}\right]}\right), \text { if } m \text { is even }
\end{array}\right. \\
& \begin{aligned}
& T_{n, m+1}^{r}(x)=\left\{\begin{array}{l}
(r n)^{-1} O\left((r n)^{-\left[\frac{m+1}{2}\right]}\right) \text { if } m \text { is odd } \\
(r n)^{-1} O\left((r n)^{-\left[\frac{m}{2}\right]}\right), \text { if } m \text { is even }
\end{array}=\left\{\begin{array}{l}
O\left((r n)^{\left[\frac{-m-3}{2}\right]}\right) \text { if } m \text { is odd } \\
O\left((r n)^{\left[\frac{-m-2}{2}\right]}\right), \text { if } m \text { is even }
\end{array}\right.\right. \\
&=O\left((r n)^{-\left[\frac{m+2}{2}\right]}\right)=O\left((r n)^{-\left[\frac{(m+1)+1}{2}\right]}\right) \text { is hold for } m+1 .
\end{aligned}
\end{aligned}
$$

## 3. Main Results

The convergence theorem and the Voronovskaya-type asymptotic formula for the polynomials $B_{n, r}(f ; x)$ are given in this section.

### 3.1 Theorem (Korovkin Theorem)

If $f \in C[0,1]$, exists and continuous and $x \in[0,1]$, then
$\lim _{n \rightarrow \infty} B_{n, r}(f(t) ; x)=f(x)$.
Proof.
From Lemma 2.3, the proof of this theorem holds.

### 3.2 Theorem (Voronovskaya-type asymptotic formula)

Let $f \in C[0,1]$ and $x \in(0,1)$, if $f^{\prime \prime}$ exists, the polynomials $B_{n, r}(f, x)$ satisfy the asymptotic relation:
$\lim _{n \rightarrow \infty} n\left\{B_{n, r}(f, x)-f(x)\right\}=\frac{(1-\mathrm{r})(1-2 \mathrm{x})}{2 r} f^{\prime}(x)+\frac{x(1-x)}{2 r} f^{\prime \prime}(x)$.
Proof.
By Taylor's expansion, one has
$f(t)=f(x)+f^{\prime}(x)(t-x)+\frac{f^{\prime \prime}(x)}{2!}(t-x)^{2}+\varepsilon(t, x)(t-x)^{2}$
where $\varepsilon(t, x) \rightarrow 0$ as $t \rightarrow x$. Therefore,

$$
\begin{aligned}
& B_{n, r}(f(t), x) \\
& =f(x) B_{n, r}(1 ; x)+f^{\prime}(x) B_{n, r}\left(\left(\frac{k}{n}-x\right) ; x\right)+\frac{1}{2} f^{\prime \prime}(x) B_{n, r}\left(\left(\frac{k}{n}-x\right)^{2} ; x\right) \\
& \quad+B_{n, r}\left(\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2} ; x\right) .
\end{aligned}
$$

Then,

$$
\begin{aligned}
& n\left\{B_{n, r}(f ; x)-f(x)\right\}=n T_{n, 1}^{r}(x) f^{\prime}(x)+n T_{n, 2}^{r}(x) \frac{f^{\prime \prime}(x)}{2!}+n\left(B_{n, r}\left(\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2} ; x\right)\right. \\
& \lim _{n \rightarrow \infty} n\left\{B_{n, r}(f ; x)-f(x)\right\}=\lim _{n \rightarrow \infty} n\left(\frac{(1-\mathrm{r})(1-2 \mathrm{x})}{2 r n}\right) f^{\prime}(x) \\
& +\lim _{n \rightarrow \infty} n\left(\frac{(1-r)^{2}(1-2 x)^{2}}{4 r^{2} n^{2}}+\frac{(r-1) x(1-x)}{r^{2} n^{2}}+\frac{x(1-x)}{r n}\right) \frac{f^{\prime \prime}(x)}{2!} \\
& +\lim _{n \rightarrow \infty} n\left(B_{n, r}\left(\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2} ; x\right)\right. \\
& =\frac{(1-\mathrm{r})(1-2 \mathrm{x})}{2 r} f^{\prime}(x)+\frac{x(1-x)}{r} \frac{f^{\prime \prime}(x)}{2!}+\lim _{n \rightarrow \infty} n\left(B_{n, r}\left(\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2} ; x\right) .\right.
\end{aligned}
$$

Now,
$n\left|B_{n, r}\left(\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2} ; x\right)\right|=\frac{n \sum_{k=0}^{n} b_{n, k}^{r}(x)\left(\left|\varepsilon\left(\frac{k}{n}, x\right)\right|\left(\frac{k}{n}-x\right)^{2}\right)}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}$
where $\varepsilon(t, x) \rightarrow 0$ as $t \rightarrow x$.
Now, given $\varepsilon>0 \exists \delta>0$ such that either $0<\left|\frac{k}{n}-x\right|<\delta \rightarrow\left|\varepsilon\left(\frac{k}{n}, x\right)\right|<\varepsilon$
Or $\left|\frac{k}{n}-x\right| \geq \delta \rightarrow\left|\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2}\right|<M t^{\alpha}$
$n\left|B_{n, r}\left(\varepsilon(t, x)(t-x)^{2} ; x\right)\right|$
$\leq n \frac{\sum_{\left|\frac{k}{n}-x\right|<\delta} b_{n, k}^{r}(x)\left|\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2}\right|}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}+n \frac{\sum_{\left|\frac{k}{n}-x\right| \geq \delta} b_{n, k}^{r}(x)\left|\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2}\right|}{\sum_{k=0}^{n} b_{n, k}^{r}(x)}$
$\leq n \varepsilon T_{n, 2}^{r}(x)+n O\left((n r)^{-\gamma}\right) \forall \gamma>0$
$=o(1)$ since $\varepsilon$ is arbitrary.
Hence $\lim _{n \rightarrow \infty} n B_{n, r}\left(\varepsilon\left(\frac{k}{n}, x\right)\left(\frac{k}{n}-x\right)^{2} ; x\right) \rightarrow 0$ as $n \rightarrow \infty$.

## 4. Numerical Example.

This example compares among the polynomials, $B_{n}(g ; x)=B_{n, 1}(g ; x)$ (brown color), $B_{n, 2}(g ; x)$ (blue color), $B_{n, 3}(g ; x)$ (red color), $B_{n, 5}(g ; x)$ (green color) and the test function is $g(t)=\sin 10 t \in C[0,1]$ (black color). Also, evaluates the average absolute errors $\frac{\sum_{i=0}^{m}\left|B_{n, r}\left(g ; x_{i}\right)-g\left(x_{i}\right)\right|}{m}$, for some values of $n=50,100$ and $x_{i} \in[0,1], i=0,1, \ldots m$ where $r=1,2,3,5$. It turns out that, the numerical results become more accurate whenever $r$ increases.


Fig. 1: The convergence of the polynomials $B_{n, 1}, B_{n, 2}, B_{n, 3}, B_{n, 5}$ to the test function $g$


Fig. 2: The graph of average error functions $\left|B_{n, r}-g\right|, r=1,2,3,5$.

Table 1: The average absolute errors of $\frac{\sum_{i=0}^{m}\left|B_{n, r}\left(g ; x_{i}\right)-g\left(x_{i}\right)\right|}{m}, x_{i} \in[0,1]$ and $\left|x_{i}-x_{i+1}\right|=0.1$.

| $r$ | $n=50$ | $n=100$ |
| :---: | :---: | :---: |
| 1 | 0.08860203574 | 0.04643920283 |
| 2 | 0.05094378977 | 0.02585223416 |
| 3 | 0.03897204886 | 0.01956340062 |
| 5 | 0.02910692553 | 0.01445737662 |

## Conclusions

This study is a generalization of some well-known sequences of linear positive operators which are deduced as a special case from the $r$-th powers of the rational Bernstein polynomials. Also, the study gives a numerical example which is shown the numerical convergence of the polynomials $B_{n, r}(f ; x)$ to the test function. This numerical convergence shows by the graphs of the $B_{n, r}(f ; x)$ with the function $f(x)$. The numerical results appeared that numerical results became more accurate whenever $r$ increase.

## References

[1] U. Abel, V. Kushnirevych, Voronovskaya type theorem for positive linear operators related to squared Bernstein polynomials, positivity 23 (2019) 697-710.
[2] I. Gavrea, M. Ivan, On a conjecture concerning the sum of the squared Bernstein polynomials, Apple. Math. Comput. 241 (2014) 70-74.
[3] I. Gavrea, M. Ivan, On a new sequence of positive linear operators related to squared Bernstein polynomials, Positivity. 21 (2017) 911-917.
[4] A. Holhos, Voronovskaya theorem for a sequence of positive linear operators related to squared Bernstein polynomials, positivity. 23 (2019) 571-580.
[5] N. Ispir, Rate of convergence of generalized rational type Baskakov operators, Math. comput. model. 46 (2007) 625-631.
[6] P. Pitul, P. Sablonniere, A family of univariate rational Bernstein operators. Approximation Theory. 160 (2009) 39-55.
[7] H. Render, Convergence of rational Bernstein operators, Appl. Math. Comput. 232 (2014) 1076-1089.
[8] G. Tachev, The rate of approximation by rational Bernstein function in terms of second order moduli of continuity, Numer. Funct. Anal. Optim. 33 (2012) 206-215.
القوى الرائية لمتعددة حدود برنشتناين الكسرية
ايمان عزيز عبد الصمد
قسم الرياضيات-كلية التربية للعلوم الصرفة-جامعة البصرة-البصرة-العراق

في هذا البحث تم تعريف متعددات حدود جديدة لبرنشتاين من القوى rودراسة تقاربها والعزم من الرتبة m وصيغة فرونوفسكيا للتقارب لها. تم تطبيق مثال عددي لتقريب دالة اختبار sin $10 x$.النتائج العددية التي تم الحصول عليها من تطبيق ذلك المثال تظهر بان متعددات حدود برنشتاين الكسرية من النمط rتعطي نتائج أفضل من متعددات حدود برنشتاين الكسرية التربيعية ومتعددات حدود برنشتاين الاصلية. تم اجراء المقارنة عن طريق رسم المخططات البيانية للالة وتقريباتها وحساب معدل الأخطاء المطلقة التي حدثت بين هذه التقريبات.

